# Subclasses of Uniformly Convex Functions with Negative Coefficients Based on Deniz-Özkan Differential Operator 

Erhan Deniz ${ }^{1}$, Yücel Özkan ${ }^{1}$ and Luminița-Ioana Cotîrlă ${ }^{2}$, © (©)

1 Department of Mathematics, Faculty of Science and Letters, Kafkas University, 36000 Kars, Turkey
2 Department of Mathematics, Technical University of Cluj-Napoca, 400020 Cluj-Napoca, Romania

* Correspondence: luminita.cotirla@math.utcluj.ro

Citation: Deniz, E.; Özkan, Y.; Cotîrlă, L.-I. Subclasses of Uniformly Convex

Functions with Negative Coefficients Based on Deniz-Özkan Differential Operator. Axioms 2022, 11, 731. https://doi.org/10.3390/
axioms11120731
Academic Editors: Sevtap Sümer
Eker and Juan J. Nieto

Received: 24 October 2022
Accepted: 11 December 2022
Published: 14 December 2022
Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).


#### Abstract

We introduce in this paper a new family of uniformly convex functions related to the Deniz-Özkan differential operator. By using this family of functions with a negative coefficient, we obtain coefficient estimates, the radius of starlikeness, convexity, and close-to-convexity, and we find their extreme points. Moreover, the neighborhood, partial sums, and integral means of functions for this new family are studied.


Keywords: parabolic starlike; neighborhood; partial sum; coefficient estimates; uniformly convex; differential operator; univalent functions

MSC: 0C45; 30C50; 30C80

## 1. Introduction

Let $\mathcal{A}$ be the class of analytic functions in the open unit disc $\mathcal{U}=\{t:|t|<1\}$ given by

$$
\begin{equation*}
h(t)=t+\sum_{s \geq 2} a_{s} t^{s} \tag{1}
\end{equation*}
$$

Let $\mathcal{S}$ be the subclass of $\mathcal{A}$ consisting of functions that are univalent in $\mathcal{U}$ and $\mathcal{T}$ be the subclass of functions $\mathcal{A}$ given by

$$
\begin{equation*}
h(t)=t-\sum_{s \geq 2} a_{s} t^{s}, \quad a_{s} \geq 0 \tag{2}
\end{equation*}
$$

The function $h \in \mathcal{A}$ is said to be in $\beta-\mathcal{S P}(\eta)$, the class of $\beta$-parabolic starlike functions of the order $\eta, 0 \leq \eta<1$, if $h$ is satisfies the condition

$$
\begin{equation*}
\operatorname{Re}\left\{\frac{t h^{\prime}(t)}{h(t)}\right\}>\beta\left|\frac{t h^{\prime}(t)}{h(t)}-1\right|+\eta, \quad \beta \geq 0 \tag{3}
\end{equation*}
$$

By substituting $t h^{\prime}$ for $h$ in (3), we are able to derive the condition

$$
\begin{equation*}
\operatorname{Re}\left\{1+\frac{t h^{\prime \prime}(t)}{h^{\prime}(t)}\right\}>\beta\left|\frac{t h^{\prime \prime}(t)}{h^{\prime}(t)}\right|+\eta, \quad \beta \geq 0 \tag{4}
\end{equation*}
$$

required for the function $h$ to be in the subclass $\beta-\mathcal{U C} \mathcal{V}(\eta)$ of the $\beta$-uniformly convex functions of order $\eta$.

These classes were defined by Bharati et al. [1] and generalized by other classes. For example, the class $\beta-\mathcal{U C} \mathcal{V}(0)=\beta-\mathcal{U C} \mathcal{V}$ is known as a $\beta$-uniformly convex function [2]. Indeed, it follows from (3) and (4) that

$$
h \in \beta-\mathcal{U C} \mathcal{V}(\eta) \Leftrightarrow t h^{\prime}(t) \in \beta-\mathcal{S P}(\eta)
$$

Specifically, the classes $1-\mathcal{U C V}(0)=\mathcal{U C V}$ and $1-\mathcal{S P}(0)=\mathcal{S P}$ were defined by Goodman and Rønning [3,4], respectively.

For a function $h$ in $\mathcal{A}$, Deniz and Özkan [5] (see also [6]) introduced the following differential operator $\mathcal{D}_{\lambda}^{m}$ as follows:

Definition 1. If $h \in \mathcal{A}$, for the parameters $\lambda \geq 0$ and $m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ the differential operator $\mathcal{D}_{\lambda}^{m}$ on $\mathcal{A}$ is defined by

$$
\begin{aligned}
\mathcal{D}_{\lambda}^{0} h(t) & =h(t) \\
\mathcal{D}_{\lambda}^{1} h(t) & =\lambda t^{3} h^{\prime \prime \prime}(t)+(2 \lambda+1) t^{2} h^{\prime \prime}(t)+t h^{\prime}(t) \\
\mathcal{D}_{\lambda}^{m} h(t) & =\mathcal{D}\left(\mathcal{D}_{\lambda}^{m-1} h(t)\right)
\end{aligned}
$$

for $t \in \mathcal{U}$.
For the function $h$ in $\mathcal{A}$, by the definition of the operator $\mathcal{D}_{\lambda}^{m}$, we see that

$$
\begin{equation*}
\mathcal{D}_{\lambda}^{m} h(t)=t+\sum_{s \geq 2} s^{2 m}(\lambda(s-1)+1)^{m} a_{s} t^{s} \tag{5}
\end{equation*}
$$

Moreover, $\mathcal{D}_{\lambda}^{m} h(t) \in \mathcal{A}$.
For $h \in \mathcal{A}$ given by (1) and $g(t) \in \mathcal{A}$ of the form $g(t)=t+\sum_{s=2}^{\infty} b_{s} t^{s}$, the Hadamard product (or the convolution) of $h$ and $g$ is defined by

$$
(h * g)(t)=t+\sum_{s \geq 2} a_{s} b_{s} t^{s}=(g * h)(t), \quad t \in \mathcal{U}
$$

Sălăgean derivative operator $\mathcal{S}^{m}$ [7] is one of the special cases of the operator $\mathcal{D}_{\lambda}^{m}$ as follows:

$$
\mathcal{D}_{0}^{m} h(t)=\mathcal{S}^{m} h(t) * \mathcal{S}^{m} h(t)=\mathcal{S}^{2 m} h(t)
$$

and

$$
\mathcal{D}_{1}^{m} h(t)=\mathcal{S}^{m} h(t) * \mathcal{S}^{m} h(t) * \mathcal{S}^{m} h(t)=\mathcal{S}^{3 m} h(t)
$$

Let $\Omega$ be the class of functions $w(t)$ analytic in $\mathcal{U}$ such that $w(0)=0,|w(t)|<1$. If there is an analytical function $w(t) \in \Omega$ such that $h(t)=g(w(t))$, then $h(t)$ is said to be subordinate to $g(t)$ in $\mathcal{A}$. The sign for this subordination is $h(t) \prec g(t)$.

Lemma 1 ([8]). Let $\xi \in \mathbb{C}$. Then,

$$
\operatorname{Re} \xi \geq \rho, \text { if and only if }|\xi-(1+\rho)| \leq|\xi+(1-\rho)|
$$

Lemma 2 ([8]). Let $\xi \in \mathbb{C}$, and $\rho, \gamma$ are real numbers. Then,

$$
\operatorname{Re} \xi>\rho|\xi-1|+\gamma \text { if and only if } \operatorname{Re}\left\{\xi\left(1+\rho e^{i \theta}\right)-\rho e^{i \theta}\right\}>\gamma
$$

Definition 2. For $0 \leq \eta<1,0 \leq \delta \leq 1, \beta \geq 0, m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$, and $\lambda \geq 0$, we let $\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ be the subclass of $\mathcal{A}$ consisting of functions of the form (1) and satisfying the analytic criterion

$$
\operatorname{Re}\left\{\frac{t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}}{(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}}\right\} \geq \beta\left|\frac{t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}}{(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}}-1\right|+\eta .
$$

We observe that the subclass $\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ reduces to a number of well-known analytic function subclasses by specializing the parameters $\eta, \beta, \lambda, \delta$, and $m$. These subclasses include:
$0-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(0,0) \equiv \mathcal{S}^{*} \rightarrow$ The class of starlike functions (see [9], pp. 40-43);
$0-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(0,1) \equiv \mathcal{C} \rightarrow$ The class of convex functions (see [9], pp. 40-43);
$0-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(\eta, 1) \equiv \mathcal{C}(\eta) \rightarrow$ The class of convex functions of the order $\eta([10])$;
$0-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(\eta, 0) \equiv \mathcal{S}^{*}(\eta) \rightarrow$ The class of starlike functions of the order $\eta$ ([10]);
$1-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(0,0) \equiv \mathcal{S P} \rightarrow$ The class of parabolic starlike functions ([11]);
$1-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(0,1) \equiv \mathcal{U C V} \rightarrow$ The class of uniformly convex functions ([3,12]);
$\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(0,0) \equiv \beta-\mathcal{S P} \rightarrow$ The class of $\beta-$ parabolic starlike functions ([13]);
$\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(0,1) \equiv \beta-\mathcal{U C V} \rightarrow$ The class of $\beta-$ uniformly convex functions ([14]);
$1-\mathcal{U C V}_{\lambda}^{0}(2 \rho-1,0) \equiv \mathcal{P S}^{*}(\rho)\left(\frac{1}{2} \leq \rho<1\right) \rightarrow$ The class of parabolic starlike functions of the order $\rho$ ([15]);
$1-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(2 \rho-1,1) \equiv \mathcal{U C V}(\rho)\left(\frac{1}{2} \leq \rho<1\right) \rightarrow$ The class of parabolic convex functions of the order $\rho$ ([15]);
$1-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(\eta, 0) \equiv \mathcal{S P}(\eta) \rightarrow$ The class of parabolic starlike functions of the order $\eta$ ([11]);
$1-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(\eta, 1) \equiv \mathcal{U C V}(\eta) \rightarrow$ The class of uniformly convex functions of the order $\eta$ ([11]);
$\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(\eta, 0) \equiv \beta-\mathcal{S P}(\eta) \rightarrow$ The class of $\beta-$ uniformly starlike functions of the order $\eta$ ([1]);
$\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{0}(\eta, 1) \equiv \beta-\mathcal{U C V}(\eta) \rightarrow$ The class of $\beta-$ uniformly convex functions of the order $\eta([1])$;
$0-\mathcal{U C V}_{0}^{m}(\eta, 0)=\mathcal{S T}^{m}(\eta) \rightarrow$ (see [7]);
$\beta-\mathcal{U C V}_{0}^{m}(0,0)=\beta-\mathcal{S P}^{m} \rightarrow($ see $[2,16]) ;$
$\beta-\mathcal{U C V}_{0}^{m}(\eta, 0)=\mathcal{T S}(m, \beta, \eta) \rightarrow$ (see $\left.[17,18]\right)$.
We note that certain subclasses for specialization of the parameters $\delta=0$ and $\delta=1$ in the class $\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ were studied by Deniz and Özkan [6] and Şeker et al. [19].

We also let $\beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)=\beta-\mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta) \cap \mathcal{T}$.

## 2. Main Results

### 2.1. Coefficients' Bounds and Extreme Points

We give here the coefficient estimates and extreme points for the functions $h(t)$ in the class $\beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$.

Theorem 1. The class $\beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ contains the functions $h(t)$ defined by (2) if and only if

$$
\begin{equation*}
\sum_{s \geq 2}(\delta(s-1)+1)[s(\beta+1)-(\eta+\beta)] s^{2 m}(1+\lambda(s-1))^{m} a_{s} \leq 1-\eta . \tag{6}
\end{equation*}
$$

Proof. By Lemma 2 and Definition 2 we have

$$
\operatorname{Re}\left\{\frac{t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}}{(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}}\left(1+\beta e^{i \theta}\right)-\beta e^{i \theta}\right\} \geq \eta, \quad-\pi<\theta \leq \pi
$$

or equivalently

$$
\begin{align*}
& \operatorname{Re}\left\{\frac{\left(z\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\right)\left(1+\beta e^{i \theta}\right)}{(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}}\right.  \tag{7}\\
& \left.-\frac{\beta e^{i \theta}\left((1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}\right)}{(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}}\right\} \geq \eta .
\end{align*}
$$

Let

$$
F(t)=\left(1+\beta e^{i \theta}\right)\left[t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\right]-\beta e^{i \theta}\left[\mathcal{D}_{\lambda}^{m} h(t)(1-\delta)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}\right]
$$

and

$$
E(t)=(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}
$$

The inequality 7 , by Lemma 1 , is equivalent for $0 \leq \eta<1$, to

$$
|F(t)+(1-\eta) E(t)| \geq|F(t)-(1+\eta) E(t)|
$$

For the left side of last inequality, we obtain

$$
\begin{aligned}
& |(1-\eta) E(t)+F(t)| \\
= & \mid(2-\eta) t-\sum_{s \geq 2}(1+s-\eta)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s} t^{s} \\
& -\beta e^{i \theta} \sum_{s \geq 2}(s-1)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s} t^{s} \mid \\
\geq & (2-\eta)|t|-\sum_{s \geq 2}(1+s-\eta)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s}|t|^{s} \\
& -\beta \sum_{s \geq 2}(s-1)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s}|t|^{s} .
\end{aligned}
$$

Additionally, the right side can be written as

$$
\begin{aligned}
& |F(t)-(1+\eta) E(t)| \\
= & \mid-\eta t-\sum_{s \geq 2}(s-1-\eta)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s} t^{s} \\
& -\beta e^{i \theta} \sum_{s \geq 2}(s-1)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s} t^{s} \mid \\
\geq & \eta|t|+\sum_{s \geq 2}(s-1-\eta)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s}|t|^{s} \\
& +\beta \sum_{s \geq 2}(s-1)(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s}|t|^{s}
\end{aligned}
$$

and so

$$
\begin{aligned}
& |F(t)+(1-\eta) E(t)|-|F(t)-(1+\eta) E(t)| \\
\geq & 2(1-\eta)|t|-2 \sum_{s \geq 2}(1+\delta(s-1))(s(1+\beta)-\beta-\eta) s^{2 m}(\lambda(s-1)+1)^{m} a_{s}|t|^{s} \geq 0
\end{aligned}
$$

The last expression above is equivalent to

$$
\sum_{s \geq 2}(1+(s-1) \delta)[s(1+\beta)-(\eta+\beta)] s^{2 m}(\lambda(s-1)+1)^{m} a_{s} \leq 1-\eta
$$

Conversely, suppose that (6) holds. Then, we must show that by Lemma 2

$$
\operatorname{Re}\left\{\frac{\left[\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime} t+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\right]\left(1+\beta e^{i \theta}\right)-\beta e^{i \theta}\left[(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} f(t)\right)^{\prime}\right]}{(1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}}\right\} \geq \eta
$$

Upon choosing the values of $t$ on the positive real axis where $0 \leq t=r<1$, the above inequality becomes

$$
\operatorname{Re}\left\{\frac{(1-\eta)-\sum_{s \geq 2}\left[(1+\delta(s-1))\left(s\left(1+\beta e^{i \theta}\right)-\left(\eta+\beta e^{i \theta}\right)\right)\right] s^{2 m}(\lambda(s-1)+1)^{m} a_{s} r^{s-1}}{1-\sum_{s \geq 2}(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s} r^{s-1}}\right\} \geq 0 .
$$

Since $\operatorname{Re}\left(-e^{i \theta}\right) \geq-\left|e^{i \theta}\right|=-1$, the above inequality reduces to

$$
\operatorname{Re}\left\{\frac{(1-\eta)-\sum_{s \geq 2}[(1+\delta(s-1))(s(1+\beta)-(\eta+\beta))] s^{2 m}(\lambda(s-1)+1)^{m} a_{s} r^{s-1}}{1-\sum_{s \geq 2}(1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m} a_{s} r^{s-1}}\right\} \geq 0 .
$$

We reach the desired conclusion by letting $r \rightarrow 1$.
Corollary 1. If $h(t) \in \beta-\mathcal{T U C V}_{\lambda}^{m}(\eta, \delta)$, then

$$
a_{s} \leq \frac{(1-\eta)}{(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}
$$

Next, we obtain the extreme points for $\beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$.
Theorem 2. Let $h_{1}(t)=t$ and

$$
h_{s}(t)=t-\frac{(1-\eta)}{(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}} t^{s} .
$$

Then $h(t)$ is in the class $\beta-\mathcal{T \mathcal { U C }} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ if and only if it can be expressed in the form

$$
h(t)=\sum_{s \geq 2} \sigma_{s} h_{s}(t)
$$

where $\left(\sigma_{s} \geq 0\right.$ and $\sum_{s \geq 1} \sigma_{s}=1$ or $\left.1=\sigma_{1}+\sum_{s \geq 2} \sigma_{s}\right)$.
Proof. Let $h(t)=\sum_{s \geq 1} \sigma_{s} h_{s}(t)$ where $\sum_{s \geq 1} \sigma_{s}=1$ and $\sigma_{s} \geq 0$. Then,

$$
h(t)=t-\sum_{s \geq 2} \sigma_{s} A_{s} t^{s}
$$

where

$$
A_{s}=\frac{(1-\eta)}{(1+(s-1) \delta)((1+\beta) s-(\beta+\eta)) s^{2 m}((s-1) \lambda+1)^{m}}
$$

and we get

$$
\sum_{s \geq 2} \sigma_{s} A_{s} \frac{1}{A_{s}}=\sum_{s \geq 2} \sigma_{s}=1-\sigma_{1} \leq 1, \quad \text { (by Theorem } 1 \text { ). }
$$

Thus $h(t) \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ from the Theorem 1.
Conversely, we suppose that $h(t)$ of type (2) belongs to $\beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$. Then,

$$
a_{s} \leq \frac{(1-\eta)}{(1+(s-1) \delta)(s(\beta+1)-(\beta+\eta)) s^{2 m}(1+(s-1) \lambda)^{m}}, s \geq 2
$$

Setting

$$
\sigma_{s}=\frac{(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{(1-\eta)} a_{s}
$$

and

$$
\sigma_{1}=1-\sum_{s \geq 2} \sigma_{s}
$$

we obtain

$$
h(t)=\sum_{s \geq 1} \sigma_{s} h_{s}(t)=\sigma_{1} h_{1}(t)+\sum_{s \geq 2} \sigma_{s} h_{s}(t) .
$$

This completes the proof.

### 2.2. Distortion and Growth Theorems

We obtain the covering property, distortion, and growth theorems for functions from the new family.

Theorem 3. Let $h(t) \in \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$. Then,

$$
r-\frac{1-\eta}{(\delta+1)(\beta+2-\eta)(4(\lambda+1))^{m}} r^{2} \leq|h(t)| \leq r+\frac{1-\eta}{(\delta+1)(\beta+2-\eta)(4(\lambda+1))^{m}} r^{2} \quad(|t|=r)
$$

The result is sharp with the extremal function $h$ given by

$$
h(t)=t-\frac{1-\eta}{(1+\delta)(\beta+2-\eta)(4(1+\lambda))^{m}} t^{2}
$$

Proof. From Theorem 1, since $h \in \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ we obtain

$$
\begin{aligned}
& 4^{m}(1+\delta)(\lambda+1)^{m}(\beta-\eta+2) \sum_{s \geq 2} a_{s} \\
\leq & \sum_{s \geq 2}(1+(s-1) \delta) s^{2 m}[(\beta+1) s-(\eta+\beta)]((s-1) \lambda+1)^{m} a_{s} \leq 1-\eta
\end{aligned}
$$

or

$$
\begin{equation*}
\sum_{s \geq 2} a_{s} \leq \frac{1-\eta}{(1+\delta)(\beta-\eta+2)(4(\lambda+1))^{m}} \tag{8}
\end{equation*}
$$

Thus, by Equation (8), we obtain

$$
\begin{aligned}
|h(t)| & =\left|t-\sum_{s \geq 2} a_{s} t^{s}\right| \leq|t|+\sum_{s \geq 2} a_{s}|t|^{s} \\
& \leq r+r^{2} \sum_{s \geq 2} a_{s} \leq r+\frac{1-\eta}{(1+\delta)(\beta-\eta+2)(4(\lambda+1))^{m}} r^{2}
\end{aligned}
$$

and similarly,

$$
\begin{aligned}
|h(t)| & =\left|t-\sum_{s \geq 2} a_{s} t^{t}\right| \geq|t|-\sum_{s \geq 2} a_{s}|t|^{s} \\
& \geq r-r^{2} \sum_{s \geq 2} a_{s} \geq r-\frac{1-\eta}{(1+\delta)(\beta-\eta+2)(4(\lambda+1))^{m}} r^{2} .
\end{aligned}
$$

Corollary 2. If $h(t) \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, 1)$, then

$$
r-\frac{1-\eta}{2(2-\eta+\beta)(4(1+\lambda))^{m}} r^{2} \leq|h(t)| \leq r+\frac{1-\eta}{2(2-\eta+\beta)(4(\lambda+1))^{m}} r^{2} \quad(|t|=r) .
$$

For the extremal function h given by

$$
h(t)=t-\frac{1-\eta}{2(\beta+2-\eta)(4(1+\lambda))^{m}} t^{2},
$$

the result is sharp.

Theorem 4. The disk $|t|<1$ is mapped onto a domain that contains the disk

$$
|\xi|<1-\frac{1-\eta}{(1+\delta)(\beta+2-\eta)(4(1+\lambda))^{m}}
$$

by any $h \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ and onto a domain that contains the disk

$$
|\xi|<1-\frac{1-\eta}{2(\beta+2-\eta)(4(1+\lambda))^{m}}
$$

by any $h \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, 1)$.
Proof. The results follow upon letting $r \rightarrow 1$ in Theorem 3 and its corollary.
Theorem 5. Let $h \in \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$. Then

$$
1-r \frac{2(1-\eta)}{(\beta+2-\eta)(4(1+\lambda))^{m}} \leq\left|h^{\prime}(t)\right| \leq 1+r \frac{2(1-\eta)}{(\beta+2-\eta)(4(1+\lambda))^{m}} \quad(|t|=r) .
$$

Proof. We have

$$
\begin{equation*}
\left|h^{\prime}(t)\right| \leq 1+\sum_{s \geq 2} a_{s} s|t|^{s-1} \leq 1+r \sum_{s \geq 2} s a_{s} . \tag{9}
\end{equation*}
$$

Since $h \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$, according to Theorem 1

$$
\begin{aligned}
& (1+\delta) 2^{2 m-1}(\beta-\eta+2)(\lambda+1)^{m} \sum_{s \geq 2} s a_{s} \\
\leq & \sum_{s \geq 2}(1+(s-1) \delta) s^{2 m}(s(\beta+1)-(\beta+\eta))(\lambda(s-1)+1)^{m} a_{s} \\
\leq & 1-\eta
\end{aligned}
$$

or

$$
\begin{equation*}
\sum_{s \geq 2} s a_{s} \leq \frac{2(1-\eta)}{(1+\delta)(\beta+2-\eta)(4(\lambda+1))^{m}} \tag{10}
\end{equation*}
$$

In view of inequalities (9) and (10), we obtain

$$
\begin{aligned}
\left|h^{\prime}(t)\right| & \leq 1+\sum_{s \geq 2} s a_{s}|t|^{s-1} \\
& \leq 1+r \sum_{s \geq 2} s a_{s} \\
& \leq 1+r \frac{2(1-\eta)}{(1+\delta)(\beta-\eta+2)(4(1+\lambda))^{m}}
\end{aligned}
$$

Similarly

$$
\left|h^{\prime}(t)\right| \geq 1-r \frac{2(1-\eta)}{(1+\delta)(\beta+2-\eta)(4(1+\lambda))^{m}}
$$

and thus, the proof is completed.
Corollary 3. If $h \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, 1)$, then

$$
1-\frac{(1-\eta)}{(\beta-\eta+2)(4(\lambda+1))^{m}} r \leq\left|h^{\prime}(t)\right| \leq 1+\frac{(1-\eta)}{(\beta-\eta+2)(4(\lambda+1))^{m}} r \quad(|t|=r)
$$

### 2.3. Neighborhoods and Partial Sums

We now extend the familiar concept of neighborhoods to the analytic functions of the family $\beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$. The concept of neighborhoods of analytic functions was first
introduced by Goodman [3]. Later, Ruscheweyh [20] investigated this concept for the elements of several notable subclasses of analytic functions, and Altintaş and Owa [21] considered a certain family of analytic functions with negative coefficients. Moreover, Aouf [17,22] and Deniz and co-authors [23-25] studied this concept in certain families of analytic functions.

Definition 3. Let $\beta \geq 0,0 \leq \eta<1, \lambda \geq 0,0 \leq \delta \leq 1, \sigma \geq 0$, and $m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$. We define the $\sigma$ - neighborhood of a function $h \in \mathcal{A}$ and denote it by $N_{\sigma}(h)$ consisting of all functions

$$
g(t)=t-\sum_{s \geq 2} b_{s} t^{s} \in \mathcal{A}
$$

which satisifies

$$
\sum_{s \geq 2} \frac{(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{(1-\eta)}\left|a_{s}-b_{s}\right| \leq \sigma
$$

Theorem 6. Let $h \in \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$, and, for all real $\theta$, we have $\eta\left(e^{i \theta}-1\right)-2 e^{i \theta} \neq 0$. For any complex number $\mu$ with $|\mu|<\sigma(0 \leq \sigma)$, if h satisfies the following condition:

$$
\frac{h(t)+\mu t}{1+\mu} \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)
$$

then $N_{\sigma}(h) \subset \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$.
Proof. It is obvious that $h \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ if and only if

$$
\left|\frac{t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\left(1+\beta e^{i \theta}\right)-\left(1+\beta e^{i \theta}+\eta\right)\left((1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}\right)}{\left(t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\right)\left(1+\beta e^{i \theta}\right)+\left(1-\beta e^{i \theta}-\eta\right)\left((1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}\right)}\right|<1
$$

for any complex number $\alpha$ with $|\alpha|=1$, and $-\pi<\theta<\pi$, we have

$$
\frac{\left(t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\right)\left(1+\beta e^{i \theta}\right)-\left(1+\beta e^{i \theta}+\eta\right)\left((1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}\right)}{\left(t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\right)\left(1+\beta e^{i \theta}\right)+\left(1-\beta e^{i \theta}-\eta\right)\left((1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}\right)} \neq \alpha
$$

In other words, we must have

$$
\begin{aligned}
& \left.(1-\alpha)\left(\left(t \mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}+\delta t^{2}\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime \prime}\right)\left(1+\beta e^{i \theta}\right)\right) \\
& -\left[\beta e^{i \theta}+1+\eta-\alpha\left(1+\eta-\beta e^{i \theta}\right)\right]\left((1-\delta) \mathcal{D}_{\lambda}^{m} h(t)+\delta t\left(\mathcal{D}_{\lambda}^{m} h(t)\right)^{\prime}\right) \neq 0
\end{aligned}
$$

which is equivalent to
$t-\sum_{s=2}^{\infty} \frac{\beta e^{i \theta}(1-\alpha)(s-1)+(1-\alpha)(s-\eta)-\alpha-1}{\eta(\alpha-1)-2 \alpha} s^{2 m}(\lambda(s-1)+1)^{m}(1+\delta(s-1)) a_{s} t^{s} \neq 0$.
However, $h \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ if and only if

$$
\frac{(h * \phi)(t)}{t} \neq 0, \quad t \in \mathcal{U}-\{0\}
$$

where

$$
\phi(t)=t-\sum_{s \geq 2} e_{s} t^{s},
$$

and

$$
e_{s}=\frac{\beta e^{i \theta}(1-\alpha)(s-1)+(s-\alpha)(1-\alpha)-\alpha-1}{\eta(\alpha-1)-2 \alpha} s^{2 m}(1+\lambda(s-1))^{m}(1+\delta(s-1)) .
$$

We note that

$$
\left|e_{s}\right| \leq \frac{s(1+\beta)-(\eta+\beta)}{(1-\eta)}(\delta(s-1)+1) s^{2 m}(\lambda(s-1)+1)^{m}
$$

Since

$$
\frac{h(t)+\mu t}{1+\mu} \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta), \text { therefore } t^{-1}\left(\frac{h(t)+\mu t}{1+\mu} * \phi(t)\right) \neq 0
$$

which is equivalent to

$$
\begin{equation*}
\frac{(h * \phi)(t)}{(1+\mu) t}+\frac{\mu}{1+\mu} \neq 0 . \tag{11}
\end{equation*}
$$

Now suppose that

$$
\left|\frac{(h * \phi)(t)}{t}\right|<\sigma .
$$

Then, by (11), we must have

$$
\left|\frac{(h * \phi)(t)}{t(1+\mu)}+\frac{\mu}{1+\mu}\right| \geq \frac{|\mu|}{|1+\mu|}-\frac{1}{|1+\mu|}\left|\frac{(h * \phi)(t)}{t}\right|>\frac{|\mu|-\sigma}{|1+\mu|} \geq 0,
$$

which is a contradiction to $|\mu|<\sigma$. However, we have

$$
\left|\frac{(h * \phi)(t)}{t}\right| \geq \sigma
$$

If

$$
g(t)=t-\sum_{s \geq 2} b_{s} t^{s} \in N_{\sigma}(h),
$$

then

$$
\begin{aligned}
\sigma-\left|\frac{(g * \phi)(t)}{t}\right| & \leq\left|\frac{((h-g) * \phi)(t)}{t}\right| \leq \sum_{s \geq 2}\left|a_{s}-b_{s}\right|\left|e_{s}\right|\left|t^{s}\right| \\
& <\sum_{s \geq 2} \frac{s(1+\beta)-(\eta+\beta)}{(1-\eta)}\left|a_{s}-b_{s}\right|(1+s \delta-\delta) s^{2 m}(\lambda(s-1)+1)^{m} \leq \sigma
\end{aligned}
$$

We now conclude that

$$
\frac{(g * \phi)(t)}{t} \neq 0
$$

which implies that $g \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$.
Theorem 7. Let $h \in \mathcal{A}$ be given by (2). Define $h_{1}(t)=t, h_{k}(t)=t-\sum_{s \geq 2}^{k} a_{s} t^{s},(k=2,3, \ldots)$ and also suppose that $\sum_{s \geq 2} a_{s} c_{s} \leq 1$, where

$$
c_{s}=\frac{(1+(s-1) \delta)((\beta+1) s-(\beta+\eta)) s^{2 m}(\lambda(s-1)+1)^{m}}{(1-\eta)} .
$$

Then
(i)

$$
h \in \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)
$$

(ii)

$$
1-\frac{1}{c_{k+1}}<\operatorname{Re}\left\{\frac{h(t)}{h_{k}(t)}\right\}<1+\frac{1}{c_{k+1}}, \operatorname{Re}\left\{\frac{h_{k}(t)}{h(t)}\right\}>\frac{c_{k+1}}{1+c_{k+1}}, t \in \mathcal{U}, k=2,3, \ldots
$$

Proof. (i) Since

$$
\frac{t+\mu t}{1+\mu}=t \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta),|\mu|<1
$$

by Theorem 6 we have $N_{1}(t) \subset \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)\left(N_{1}(t)\right.$ denoting the one-neighborhood). Now, since $\sum_{s \geq 2} c_{s} a_{s} \leq 1, h \in N_{1}(t)$ and $h \in \beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$,
(ii) we have

$$
c_{s}=\left[\frac{(s-1)(1+\beta)}{1-\eta}+1\right](1+\delta(s-1)) s^{2 m}(\lambda(s-1)+1)^{m}
$$

and $\left\{c_{s}\right\}$ is an increasing sequence. So, we obtain

$$
\begin{equation*}
\sum_{s=2}^{k} a_{s}+c_{k+1} \sum_{s \geq k+1} a_{s} \leq 1 \tag{12}
\end{equation*}
$$

Now, by introducing $G_{1}(t)$ given by

$$
G_{1}(t)=c_{k+1}\left[\frac{h(t)}{h_{k}(t)}-\left(1-\frac{1}{c_{k+1}}\right)\right]
$$

and making use of (12), we obtain

$$
\left|\frac{G_{1}(t)-1}{G_{1}(t)+1}\right|=\left|\frac{-c_{k+1} \sum_{s \geq k+1} a_{s} t^{s}}{2-c_{k+1} \sum_{s \geq k+1} a_{s} t^{s}}\right|<\frac{c_{k+1} \sum_{s \geq k+1} a_{s}}{2-c_{k+1} \sum_{s \geq k+1} a_{s}-\sum_{s \geq 1}^{k} a_{s}}<1 .
$$

Therefore, $\operatorname{ReG}_{1}(t)>0$, and we obtain

$$
\operatorname{Re}\left\{\frac{h(t)}{h_{k}(t)}\right\}>1-\frac{1}{c_{k+1}} .
$$

Now, let

$$
G_{2}(t)=c_{k+1}\left[\frac{h(t)}{h_{k}(t)}-\left(1+\frac{1}{c_{k+1}}\right)\right],
$$

then, we have

$$
\left|\frac{G_{2}(t)+1}{G_{2}(t)-1}\right|=\left|\frac{-c_{k+1} \sum_{s \geq k+1} a_{s} t^{s}}{-c_{k+1} \sum_{s \geq k+1} a_{s} t^{s}-2}\right|<\frac{c_{k+1} \sum_{s \geq k+1} a_{s}}{2-c_{k+1} \sum_{s \geq k+1} a_{s}-\sum_{s \geq 1}^{k} a_{s}}<1 .
$$

Therefore, $\operatorname{ReG}_{2}(t)<0$, and we obtain

$$
\operatorname{Re}\left\{\frac{h(t)}{h_{k}(t)}\right\}<1+\frac{1}{c_{k+1}} .
$$

For the second inequality, we define

$$
F(t)=\left(1+c_{k+1}\right)\left[\frac{h_{k}(t)}{h(t)}-\frac{c_{k+1}}{1+c_{k+1}}\right]
$$

then by using (12), we obtain

$$
\begin{aligned}
\left|\frac{F(t)-1}{F(t)+1}\right| & =\left|\frac{\left(1+c_{k+1}\right)\left(h_{k}(t)-h(t)\right)}{\left(1+c_{k+1}\right) h_{k}(t)-\left(c_{k+1}-1\right) h(t)}\right| \\
& =\left|\frac{\left(1+c_{k+1}\right) \sum_{s=k+1}^{\infty} a_{s} t^{s-1}}{2+\left(c_{k+1}-1\right) \sum_{s=k+1}^{\infty} a_{s} t^{s-1}-2 \sum_{s=2}^{k} a_{s} t^{s-1}}\right| \\
& \leq \frac{\left(1+c_{k+1}\right) \sum_{s=k+1}^{\infty} a_{s}}{2-2 \sum_{s \geq 2}^{k} a_{s}+\left(1-c_{k+1}\right) \sum_{s \geq k+1} a_{s}} \leq 1 .
\end{aligned}
$$

This shows that $\operatorname{ReF}(t)>0$, and, finally,

$$
\operatorname{Re}\left\{\frac{h_{k}(t)}{h(t)}\right\}>\frac{c_{k+1}}{1+c_{k+1}}
$$

Theorem 8. Let the conditions be as in Theorem 7. Then, for $k=2,3, \ldots$, we have

$$
1-\frac{k+1}{c_{k+1}}<\operatorname{Re}\left\{\frac{h^{\prime}(t)}{h_{k}^{\prime}(t)}\right\}, \quad \operatorname{Re}\left\{\frac{h_{k}^{\prime}(t)}{h^{\prime}(t)}\right\}>\frac{c_{k+1}}{k+1+c_{k+1}}, \quad t \in \mathcal{U}, k=2,3, \ldots
$$

Proof. The proof of Theorem 8 is similar to that of Theorem 7.

### 2.4. Radius of Close-to-Convexity, Starlikeness, and Convexity

We focus on obtaining the radii of convexity, starlikeness, and close-to-convexity.
Theorem 9. Let the function $h(t)$, defined by (2), be in the class $\beta-\mathcal{T U C} \mathcal{V}{ }_{\lambda}^{m}(\eta, \delta)$. Then, $h(t)$ is close-to-convex of the order $\varepsilon \quad(0 \leq \varepsilon<1)$ in $|z|<r_{1}(\eta, \beta, \delta, \varepsilon, m)$, where

$$
\begin{equation*}
r_{1}(\eta, \beta, \delta, \varepsilon, m)=\inf _{s \geq 2}\left\{\frac{(1-\varepsilon)(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{s(1-\eta)}\right\}^{\frac{1}{s-1}} \tag{13}
\end{equation*}
$$

Proof. We must prove that

$$
\left|h^{\prime}(t)-1\right| \leq 1-\varepsilon \text { where }|t|<r_{1}(\eta, \beta, \delta, \varepsilon, m)
$$

We have

$$
\left|h^{\prime}(t)-1\right| \leq \sum_{s \geq 2} s a_{s}|t|^{s-1}
$$

Thus, $\left|h^{\prime}(t)-1\right| \leq 1-\varepsilon$ if

$$
\begin{equation*}
\sum_{s \geq 2}\left(\frac{s}{1-\varepsilon}\right) a_{s}|t|^{s-1} \leq 1 \tag{14}
\end{equation*}
$$

From Theorem 1, we obtain

$$
\begin{equation*}
\sum_{s \geq 2} \frac{(1+\delta(s-1))[(\beta+1) s-(\eta+\beta)] s^{2 m}(\lambda(s-1)+1)^{m}}{(1-\eta)} a_{s} \leq 1 \tag{15}
\end{equation*}
$$

Hence, (14) is true if

$$
\frac{s|t|^{s-1}}{1-\varepsilon} \leq \frac{(1+\delta(s-1))[s(1+\beta)-(\beta+\eta)] s^{2 m}(\lambda(s-1)+1)^{m}}{(1-\eta)}
$$

Equivalently,

$$
\begin{equation*}
|t| \leq\left\{\frac{(1-\varepsilon)(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{s(1-\eta)}\right\}^{\frac{1}{s-1}}, s \geq 2 \tag{16}
\end{equation*}
$$

The theorem follows from (16).
Theorem 10. If $h(t)$ is of the form (2) and is in the class $\beta-\mathcal{T \mathcal { C }} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$, then $h(t)$ is starlike of the order $\varepsilon \quad(0 \leq \varepsilon<1)$ in $|t|<r_{2}(\eta, \beta, \delta, \varepsilon, m)$, where

$$
\begin{equation*}
r_{2}(\eta, \beta, \delta, \varepsilon, m)=\inf _{s \geq 2}\left\{\frac{(1-\varepsilon)((s-1) \delta+1)((\beta+1) s-(\beta+\eta)) s^{2 m}(1+(s-1) \lambda)^{m}}{(1-\eta)(s-\varepsilon)}\right\}^{\frac{1}{s-1}} \tag{17}
\end{equation*}
$$

Proof. It suffices to show that

$$
\left|\frac{t h^{\prime}(t)}{h(t)}-1\right| \leq 1-\varepsilon \text { for }|t|<r_{2}(\eta, \beta, \delta, \varepsilon, m)
$$

We have

$$
\left|\frac{t h^{\prime}(t)}{h(t)}-1\right| \leq \frac{\sum_{s \geq 2}(s-1) a_{s}|t|^{s-1}}{1-\sum_{s \geq 2} a_{s}|t|^{s-1}}
$$

Thus,

$$
\begin{equation*}
\left|\frac{t h^{\prime}(t)}{h(t)}-1\right| \leq 1-\varepsilon \text { if } \frac{\sum_{s \geq 2}(s-\varepsilon) a_{s}|t|^{s-1}}{(1-\varepsilon)} \leq 1 \tag{18}
\end{equation*}
$$

by using (15), (18) is true if

$$
\frac{s-\varepsilon}{1-\varepsilon}|t|^{s-1} \leq \frac{(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{(1-\eta)}
$$

or, equivalently,

$$
|t| \leq\left\{\frac{(1-\varepsilon)(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{(s-\varepsilon)(1-\eta)}\right\}^{\frac{1}{s-1}}, s \geq 2
$$

The theorem follows easily from the last expression.
Theorem 11. If $h$ is of the form (2) and is in $\beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$, then $h(t)$ is convex of the order $\varepsilon$ for $0 \leq \varepsilon<1$ in $|t|<r_{3}(\eta, \beta, \delta, \varepsilon, m)$, where

$$
r_{3}(\eta, \beta, \delta, \varepsilon, m)=\inf _{s \geq 2}\left\{\frac{(1-\varepsilon)(\delta(s-1)+1)(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{s(s-\varepsilon)(1-\eta)}\right\}^{\frac{1}{s-1}}
$$

Proof. We show that

$$
\begin{equation*}
\left|\frac{t h^{\prime \prime}(t)}{h^{\prime}(t)}\right| \leq 1-\varepsilon \text { for }|t|<r_{3}(\eta, \beta, \delta, \varepsilon, m) \tag{19}
\end{equation*}
$$

Substituting the series expansions $h^{\prime \prime}(t)$ and $h^{\prime}(t)$ into the left side of (19), we obtain

$$
\left|\frac{-\sum_{s \geq 2} s(s-1) a_{s} t^{s-1}}{1-\sum_{s \geq 2} s a_{s} t^{s-1}}\right| \leq \frac{\sum_{s \geq 2} s(s-1) a_{s}|t|^{s-1}}{1-\sum_{s \geq 2} s a_{s}|t|^{s-1}} .
$$

The last expression above is bounded by $(1-\varepsilon)$ if

$$
\begin{equation*}
\sum_{s \geq 2} \frac{s(s-\varepsilon)}{1-\varepsilon} a_{s}|t|^{s-1} \leq 1 \tag{20}
\end{equation*}
$$

In view of (19), it follows that (20) is true if

$$
\frac{s(s-\varepsilon)}{1-\varepsilon}|t|^{s-1} \leq\left(\frac{(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{(1-\eta)}\right)
$$

or

$$
|t|<\left\{\frac{(1-\varepsilon)(1+\delta(s-1))(s(1+\beta)-(\eta+\beta)) s^{2 m}(\lambda(s-1)+1)^{m}}{s(s-\varepsilon)(1-\eta)}\right\}^{\frac{1}{s-1}}
$$

and this complete the proof.

### 2.5. Integral Means

We will need Littlewood's [26] subordination result for the investigation that follows.
Lemma 3. If $h(t)$ and $g(t)$ are analytic in $\mathcal{U}$ with $h(t) \prec g(t)$, then

$$
\int_{0}^{2 \pi}\left|h\left(r e^{i \theta}\right)\right|^{\mu} d \theta \leq \int_{0}^{2 \pi}\left|g\left(r e^{i \theta}\right)\right|^{\mu} d \theta,
$$

where $\mu>0, t=r e^{i \theta}$, and $0<r<1$.
Applying Lemma 3 to functions $h(t)$ in the classes $\beta-\mathcal{T} \mathcal{U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ gives the following result when utilizing established methods.

Theorem 12. Let $\mu>0$. If $h(t) \in \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$ is of the form (2), and $h_{2}(t)$ is defined by

$$
h_{2}(t)=t-\frac{1-\eta}{(\delta+1)(\beta+2-\eta)(4(\lambda+1))^{m}} t^{2}
$$

then we obtain

$$
\begin{equation*}
\int_{0}^{2 \pi}|h(t)|^{\mu} d \theta \leq \int_{0}^{2 \pi}\left|h_{2}(t)\right|^{\mu} d \theta, \tag{21}
\end{equation*}
$$

for $t=r e^{i \theta}, 0<r<1$.
Proof. For $h(t)=t-\sum_{s \geq 2}^{\infty} a_{s} t^{s}$, (21) is equivalent to proving that

$$
\int_{0}^{2 \pi}\left|1-\sum_{s \geq 2} a_{s} t^{s-1}\right|^{\mu} d \theta \leq \int_{0}^{2 \pi}\left|1-\frac{1-\eta}{(1+\delta)(\beta-\eta+2)(4(\lambda+1))^{m}} t\right|^{\mu} d \theta
$$

By Lemma 3, it suffices to show that

$$
1-\sum_{s \geq 2} a_{s} t^{s-1} \prec 1-\frac{1-\eta}{(1+\delta)(\beta-\eta+2)(4(\lambda+1))^{m}} t .
$$

By definition of the subordination, we can write

$$
\begin{equation*}
1-\sum_{s \geq 2} a_{s} t^{s-1}=1-\frac{1-\eta}{(1+\delta)(\beta-\eta+2)((1+\lambda) 4)^{m}} w(t) \tag{22}
\end{equation*}
$$

and, thus, from (22) and (6),

$$
\begin{aligned}
|w(t)| & =\left|\sum_{s \geq 2} \frac{(1+\delta)(\beta-\eta+2)(4(\lambda+1))^{m}}{1-\eta} a_{s} t^{s-1}\right| \\
& \leq|t| \sum_{s \geq 2} \frac{(1+\delta)(\beta-\eta+2)(4(\lambda+1))^{m}}{1-\eta} a_{s} \\
& \leq|t| \sum_{s \geq 2} \frac{(1+\delta(s-1))(s(\beta+1)-\beta-\eta) s^{2 m}(1+\lambda(s-1))^{m}}{1-\eta} a_{s} \leq|t|
\end{aligned}
$$

and the proof is completed.
Similarly, we can prove the following result.
Corollary 4. Let $\mu>0$. If $h(t) \in \beta-\mathcal{T U C} \mathcal{V}_{\lambda}^{m}(\eta, 1)$ is given by (2), and $h_{2}(t)$ is defined by

$$
h_{2}(t)=t-\frac{1-\eta}{2^{2 m+1}(\beta-\eta+2)(\lambda+1)^{m}} t^{2}
$$

then for $t=r e^{i \theta}, 0<r<1$, we have

$$
\int_{0}^{2 \pi}|h(t)|^{\mu} d \theta \leq \int_{0}^{2 \pi}\left|h_{2}(t)\right|^{\mu} d \theta
$$

Remark 1. By putting $\delta=\lambda=0$ into all of the above results, we obtain the related results obtained by Rosy and Murugusundaramoorthy [18] and Aouf [17]. Moreover, if we use $\delta=m=0$ and $\delta-1=m=0$ in all the above results, we obtain the related results obtained by Bharati [1].

## 3. Conclusions

This paper makes a modest effort to introduce the class $\beta-\mathcal{T} \mathcal{U} \mathcal{C} \mathcal{V}_{\lambda}^{m}(\eta, \delta)$. This offers an intriguing changeover from uniformly convex functions, combining the concept of the differential operator $\mathcal{D}_{\lambda}^{m}$. We derived a coefficient formula, neighborhoods, partial sums, radii of close-to-convexity, starlikeness and convexity, covering, distortion theorems, and the integral mean inequalities for functions in our class. In special cases, our findings contain the results obtained by some of the authors cited in the references. These results will open up many new opportunities for research in this field and related fields. Using the operator $\mathcal{D}_{\lambda}^{m}$, someone can define different general subclasses of analytic functions. For these subclasses, some problems, such as subordination, inclusion, coefficients, and covering theorems of the Geometric Function Theory, can be solved.

Author Contributions: Conceptualization, E.D., Y.Ö. and L.-I.C.; methodology, E.D. and L.-I.C.; software, E.D., Y.Ö. and L.-I.C.; validation, E.D. and L.-I.C.; formal analysis, E.D., Y.Ö. and L.-I.C.; investigation, E.D., Y.Ö. and L.-I.C.; resources, E.D., Y.Ö. and L.-I.C.; data curation, E.D., Y.Ö. and L.-I.C.; writing-original draft preparation, E.D., Y.Ö. and L.-I.C.; writing-review and editing, E.D., Y.Ö. and L.-I.C.; visualization, E.D., Y.Ö. and L.-I.C.; supervision, E.D. and L.-I.C.; project administration, E.D. and L.-I.C.; funding acquisition, L.-I.C. All authors have read and agreed to the published version of the manuscript.

Funding: The research was partially funded by Project 38PFE, which was part of the PDI-PFE-CDI2021 program.
Data Availability Statement: Not applicable.
Acknowledgments: We thank the referees for their insightful suggestions and comments to improve this paper in its present form.

Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Bharati, R.; Parvatham, R.; Swaminathan, A. On subclasses of uniformly convex functions and corresponding class of starlike functions. Tamkang J. Math. 1997, 28, 17-32. [CrossRef]
2. Kanas, S.; Yaguchi, T. Subclasses of $k$-uniformly convex and starlike functions defined by generalized derivate. Indian J. Pure Appl. Math. 2001, 32, 1275-1282.
3. Goodman, A.W. On uniformly starlike functions. J. Math. Anal. Appl. 1991, 155, 364-370. [CrossRef]
4. Rønning, F. A survey on uniformly convex and uniformly starlike function. Ann. Univ. Mariae Curie-Sklodowska. 1993, 47, 123-134.
5. Deniz, E.; Özkan, Y. Subclasses of analytic functions defined by a new differential operator. Acta. Uni. Apul. 2014, 40, 85-95.
6. Deniz, E.; Özkan, Y. Certain a subclasses of Uniformly Convex functions associated with Deniz-Özkan differential operator. In Proceedings of the 8th International Conference on Recent Advances in Pure and Applied Mathematics, Muğla, Turkey, 26-28 October 2021; pp. 89-97.
7. Sălăgean, G.S. Subclasses of univalent functions. In Complex Analysis, Fifth Romanian-Finnish Seminar, Part 1, Bucharest, 1981; Lecture Notes in Math; Springer: Berlin, Germany, 1983; Volume 1013, pp. 362-372. [CrossRef]
8. Aqlan, E.S. Some Problems Connected with Geometric Function Theory. Ph.D. Thesis, Pune University, Pune, India, 2004, (unpublished).
9. Duren, P.L. Univalent Functions; Springer: New York, NY, USA, 1983.
10. Robertson, M.S. On the theory of univalent functions. Ann. Math. 1936, 37, 374-408. [CrossRef]
11. Rønning, F. On starlike functions associated with parabolic regions. Ann. Univ. Mariae Curie-Skłodowska Sect. 1991, 45, 117-122.
12. Ma, W.; Minda, D. Uniformly convex functions. Ann. Polon. Math. 1992, 57, 165-175. [CrossRef]
13. Kanas, S.; Wiśniowska, A. Conic domains and starlike functions. Rev. Roumaine Math. Pures Appl. 2000, 45, 647-657.
14. Kanas, S.; Wiśniowska, A. Conic regions and k-uniform convexity. J. Comp. Appl. Math. 1999, 105, 327-336. [CrossRef]
15. Ali, R.M. Starlikeness associated with parabolic regions. Int. J. Math. Math. Sci. 2005, 4, 561-570. [CrossRef]
16. Magdas, I. On alpha-type uniformly convex functions. Stud. Univ. Babes-Bolyai Inform. 1999, 44, 11-17.
17. Aouf, M.K. A subclass of uniformly convex functions with negative coefficients. Mathematica 2010, 33, 99-111.
18. Rosy, T.; Murugusundaramoorthy, G. Fractional calculus and their applications to certain subclass of uniformly convex functions. Far East J. Math. Sci. 2004, 15, 231-242.
19. Şeker, B.; Acu, M.; Eker, S.S. Subclasses of k-uniformly convex and k-starlike functions defined by Sălăgean operator. Bull. Korean Math. Soc. 2011, 48, 169-182. [CrossRef]
20. Ruscheweyh, S. Neighboorhoods of univalent functions. Proc. Am. Math. Soc. 1981, 81, 521-527. [CrossRef]
21. Altintaş, O.; Owa, S. Neighboorhoods of certain analytic function with negative coefficients. Int. J. Math. Sci. 1996, 19, 797-800. [CrossRef]
22. Aouf, M.K. Neighborhoods of certain classes of analytic functions with negative coefficients. Internat. J. Math. Math. Sci. 2006, 2006, 38258. [CrossRef]
23. Deniz, E.; Orhan, H. Some properties of certain subclasses of analytic functions with negative coefficients by using generalized Ruscheweyh derivative operator. Czech. Math. J. 2010, 60, 699-713. [CrossRef]
24. Deniz, E.; Orhan, H. Certain subclasses of multivalent functions defined by new multiplier transformations. Arab. J. Sci. Eng. 2011, 36, 1091-1112. [CrossRef]
25. Deniz, E.; Çağlar, M.; Özkan, Y. Some properties for certain subclasses of analytic functions defined by a general differential operator. Asian Eur. J. Math. 2020, 13, 2050134. [CrossRef]
26. Littlewood, J.E. On inequalities in the theory of functions. Proc. Lond. Math. Soc. 1925, 8, 481-519. [CrossRef]
